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OPTION-A
(Macraeconomi'cs )
Paper : COM-HG-2016

1. Answer the following questions as directed :
| | 1x10=10

-—?r-ﬁM1aﬁWQ§§ﬁkwmqm§1 ol ¢

(@) What is comparatlve static economic

analysis ?

T R @Qﬁﬂ% ﬁaﬂ“ﬂﬁ &2

(b) Define effective demand.

ﬂﬁmfiﬁﬁﬁ\@ﬁm

(c) What 1s meant by aggregate supply ? -
Al Q@IS Jeres & @i e

(d) Name the author of the book, The
General Theory of Employment, Interest
and Money.

The General Theory of Employment,

~ Interest and Money a3a9 (GTATGHY ¥
IGRIN
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(e) What is the shape of long—r'un aggregate

(9)

(W

6

supply curve ?

?rw—ﬂamfﬁasmm@wwﬁm
®9

‘What does a Vert1cal IS curve mean ?

QWWIS @RI e

‘State the condition of equ111br1um in
 the goods market.

'WWWB-‘W@wl

What is the most common method of
measuring inflation ?

WWW?{WN‘TW%?

The value of money and the price level

are related inversely/directly.

(Choose the correct -answer)

'wwmmmﬂ%ﬁmﬁ/

ﬁﬂ*ﬁl | - (%% CGRCh) Az Tleear)

What 1s meant by margmal propen31ty |

to consume ?

aﬁ%asmetaaﬁaﬁmﬁﬁw ?
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Answer the following questions:  2x5=]1(

o

werw i epnjza e fr o

(a) Why docs the aggregate demand curve

slope downward ? |
siae siftw @ureE e Fegdt 2@

(b) State two limitations of the IS-LM

model.
IS-LM (T=d 76! ANael S 4 |
(c) What is social cost of inflation ?

TErTrifed AWEE 78 TiE & 2

(d) Distinguish between fixed exchange rate

and flexible exchange rate.

(e) Distinguish between induced investment

and autonomous investment.

wog e s vy R o s
forat |
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3. Answer any four of the following questions :
| | 5x4=20

oot frlll epTER Reee bifabre e o ¢
(a) Explain the national income identity

using circular flow of income in a three-
sector economy. \

‘eﬁm-mew@e@mﬁamw
‘ﬁa@nwﬁwtwwu

(b) How is the LM curve affected by the
change in the supply of money?
Explain with a diagram.

W@WWWLM ca‘anwﬁﬂ«—ca
mﬁ—iﬂ.?fhw-mwn

(c) What is marginal efficiency of capital ?
State the determinants of marginal

' ’_efﬁc1ency of capital. |
'{G_'RI?N oifes ITwel [ 2 e oo
- IR ﬁww Sl ’

(d) Explam the trade-off between 1nﬂat10n
and unemployment

Wﬁmﬁaﬂmm me
39
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(e) Explain the cost-push theory of

inflation.

Beol ISR AP OGo! A |

() Briefly explain the arguments in favour
of flexible exchange rate system.

T R 29 R A 4 PRI
RN | |

4. Answer the following questions: 10x4=40
oo WAl e Uel [l ¢

(a) Discuss the ‘determination of
equilibrium rate of interest and level of
income with the help of IS-LM curve
analysis. '

IS-LM @ Reeem 772iws Sy wd 29
Il SRR SN i O |
- Or/wEd

- Discuss how income and the interest
‘rate are affected by an increase in
government spending and an increase
in taxes, using the IS-LM curve model.
' 5+5=10
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51 T Ja R 9 I T e wim wi
o9 T (WA 2elies @, IS-LM (@i
MEBISRSIIGIRIRSEIN

(b) Explain the nature of demand—pull
inflation. What measures would you
suggest to control such inflation ?

| | 5+5=10

- olireiTe qEreifes agfs e a1 @3

A FEgeR AR o & 59g skl 2

- or/9gql |

,Diséuss the effects Qf inflation on

production and distribution: o+5=10

EFIOT Tesme oie [ogi evge o[
HORTE S R

(c) Explain Mu'ndell—Fleming "model with
flexible exchange rates. »
R R 29 Tee Jeee-CaRi [ i
40 | | | |
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Or/ s34

Discuss the derivation of the IS curve
from the goods market in an open
economy with suitable diagram.

TG gedAifes TR IG<O IS ([T (T
iz 341 38 fHoawg SEnl F40

(d) What is meant by investment function ?
Discuss the factors which affect the
level of investment. 2+8=10

e wow f & 3om @ REcsE w9
AGIR (TR GAMINAR S 41 |

Or/ 9241

Explain Keynesian theory of demand
for money. Write how it is superior to
the traditional quantity theory of
money. 7+3=10

(@20 ORCGA] TR GIRA g6t it 1 |
AT={AISTS A AT TGOT B (WA T
fovat |
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